National Testing Agency

Question Paper Name: 06 History 2nd Dec 2019 Shift 1
Subject Name: 06 History
Creation Date: 2019-12-02 15:46:59
Duration: 180
Total Marks: 300
Display Marks: Yes

06 History
Group Number : 1
Group Id : 6154756
Group Maximum Duration : 0
Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 300

PART I General Paper

Section Id : 61547511
Section Number : 1
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 42
Number of Questions to be attempted: 42
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 61547536
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 615475771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options :

6154753001, 1
£1547532002. 2
£154753003 2
154753004, 4

Question Number : 1 Question Id : 615475771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154753001, 1
6154753002, 2
6154753003 3
6154753004, 4

Question Number : 2 Question Id : 615475772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Translating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options :

E154753005 1
6154753006, 2
E154753007. 3
6154753003, 4

Question Number : 2 Question Id : 615475772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl faad =0 W 949 = 37914 2d F91ad dHET] SEvIRAT Jeied @

(1)  T91aT% SRT 920 91 G=-1 il =Faiad J491 ATHEF T=id 9

(2) TS 991 39 GEGE i IGRAT ° B 1 A9 3 Joaadl SN § 9l 92 #HA °

(3) ST g1 A w1 T8 fRu A a9 3w s R an A

(4) 91 g1 3@ 9 I T U9 30 FEFEE A0 O

Options :

6154753005 1
6154753006, 2
6154753007, 3
154753008, 4

Question Number : 3 Question Id : 615475773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open discussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v} Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options :

154753009, 1
6154753010, 2
6154753011, 3
6154753012 4



Question Number : 3 Question Id : 615475773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
6154753009, 1
6154753010, 2

E154753011. 3
E15475301% 4

Question Number : 4 Question Id : 615475774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the following list. which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

(1) MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) (11) and (1v)
(4) (111) and (v)

Options :
154752012 1

E154753014 2
5154753015 3
E154753016. 4

Question Number : 4 Question Id : 615475774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154753013 1
6154753014 2
6154753015 3
6154753016, 4

Question Number : 5 Question Id : 615475775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr
descriptive features. Match the two sets

Set I Set [1I
(Evaluation system) (Descriptive features)
(a) Formative evaluation (11 Comparing the students’ performance

with that of others

(b)  Summative evaluation (1) Indicating standards of mastery
(c) Norm-referenced testing (i) Diagnosing students’ problems
(d) Cnrterion-referenced testing (1v) Identifving scope for improvement

(v) Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11}. (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options :

51547530171
6154753018 2
E154753019 3
6154752020 4

Question Number : 5 Question Id : 615475775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-{11)

(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v), (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options :

1547532017 1
6154753015 2
6154753019, 2
5154753020, 4

Question Number : 6 Question Id : 615475776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced consequences

(3) Theorizing. deducing consequences. testing. observing and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options :
61547530211
6154753022 2
6154753023 2
154753024 4

Question Number : 6 Question Id : 615475776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
6154753021, 1
6154753022, 2

6154753022 3
E154753024, 4

Question Number : 7 Question Id : 615475777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of thelr socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Socilo-economic background
Options :

61547530251
E154753026. 2
E154753027. 3
E154753028. 4

Question Number : 7 Question Id : 615475777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E154753025 1
6154753026 2
E154753027. 3
6154753028 4

Question Number : 8 Question Id : 615475778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options :

E154753029. 1
E154753030. 2
E154753021. 3
BE154753032. 4

Question Number : 8 Question Id : 615475778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547530259. 1
E154753020 2
5154753021 3
6154753032 4

Question Number : 9 Question Id : 615475779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a thesis ‘Format and styvles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options :

E154753033. 1
B1547530234 2
5154753035 3
E154753036. 4

Question Number : 9 Question Id : 615475779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



= TRl =g 1w =+ 9EY ud SoEr # wgied aiis 3 3ETeE 6 S 21 38 UF 3 |
(1) e =t AR ¥ 7 FHATR =
(2y  sieneft & s sgaEr =
(3) I 9A Toiga § s 1 Femar =
(4) g 99 Tewgs | Ianefi § wiadgan & 99| F
Options :
6154753033, 1
5154753034, 2

E154752035 3
6154753036 4

Question Number : 10 Question Id : 615475780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment, Which tvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(iv)  Ethnographic method

(v) Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (1) and (11)
(3) (111) and (v) (4) (1) and (1v)
Options :

51547530371
6154752038 2
6154752039 3
E154753040 4

Question Number : 10 Question Id : 615475780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E154753037. 1
6154753038 2
E154753039. 3
E154753040 4

Question Number : 11 Question Id : 615475781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Dynamics of good classroom communication mmvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

() Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e)and (D
Options :

E154753041. 1
E154753042 2
5154753043 3
6154753044 4

Question Number : 11 Question Id : 615475781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

51547530411
6154753042 2
6154752042 3
E154753044, 4

Question Number : 12 Question Id : 615475782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Instructional communication in the distance education mode 1=

(1) unstructured (2) self-regulatory
(3) informal (4) structured and interactive
Options :

E154753045 1
E154753046 2
E154753047 3
5154753045, 4

Question Number : 12 Question Id : 615475782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E154753045 1



E154753046 2
6154753047 3
5154753045, 4

Question Number : 13 Question Id : 615475783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2) Ambiguous advice
(3) Potential threat (4) Pos=itive reinforcement
Options :

E1547530459 1
6154753050 2
E154753051. 3
E154753052. 4

Question Number : 13 Question Id : 615475783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

£154753049 1
6154752050 2
E154753051. 3
E154753052. 4

Question Number : 14 Question Id : 615475784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles

(b) Liberal use of adjectives
(c) Clarity

(d) Conciseness

(e) Correctness

() Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) {c). (d) and (e) (4) (d). (e) and (D)



Options :
1547530531

6154753054 2
6154753055 3
E154753056. 4

Question Number : 14 Question Id : 615475784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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(1)  (a). (b) 37 (¢) (2)  (b). (c) 3 (d)

(3) (c). (d) 3T (e) (4)  (d). (e) 3T (D)
Options :

E154753053. 1
E154753054 2
E154753055 3
5154753056, 4

Question Number : 15 Question Id : 615475785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements — One 1s labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) ; Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1= not the correct explanation of (4)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options :



E154753057. 1
6154753058 2
51547530559 3
E1547532060. 4

Question Number : 15 Question Id : 615475785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

F a1 %9E 120 0 2, 990 O UF # A9FeE (A) I F 9% (R) FE O E

AR (A) ¢ IO H=A1 % ARH-Y6H 0 g AHa =Eer 1 Aiad 981 #4d0 &l
T (R) : TN § Ot 9= {1 &1 399 3 iEd 2
Fefafad § O 98 Jed 9[T

(1) (A) 3 (R) 2ET T8 & 997 (R). (A) =i o =g 2
(2) (A) 31 (R) 3HI T2 & =ik (R). (A) =hl T =741 T2 2|

(3) (A) T 2, wifFT (R) Teld 21

(4) (A) TeTd 2, A (R) T21 21

Options :

154753057 1
6154753058, 2
6154753059 3
6154753060, 4

Question Number : 16 Question Id : 615475786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 3:7. If 8 12 added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 3b (4) 24 56
Options :

E154753061. 1
6154753062, 2
E154753063. 3
E154753064, 4

Question Number : 16 Question Id : 615475786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154753061,
6154753062,
6154753063,
6154753064,

B R

Question Number : 17 Question Id : 615475787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The number X in the following series :

3.8,18,38. X, ...1s

(1) 78 (2) 80
(3) 76 (4) T4
Options :

E154753065. 1
6154753086, 2
E154753067. 3
6154753068, 4

Question Number : 17 Question Id : 615475787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154753065,
£154753066,
6154753067,
6154753068,

e IR

Question Number : 18 Question Id : 615475788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If ‘ SOLUTION" 158 RS5KTSHASM' then ‘“CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options :

E154753069. 1
6154753070 2
E154753071. 3
BE154753072 4

Question Number : 18 Question Id : 615475788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tz ‘SOLUTION' % fou ‘RAKTSHAM' # a1 ‘CROME’ i F=ffiga 8§ & g &9 4§ Torar smom ?

(1) BQ5HL (2) B5QLH
(3) BQ3LD (4) BS5LH
Options :

6154753069 1
6154752070 2
E154753071. 3
E154753072 4

Question Number : 19 Question Id : 615475789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢’ then

(1) ‘a’ 15 Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢
(3) ‘a’ 13 constant (4) ‘a’1s directly proportional to “be’
Options :

E154753073. 1
BE154753074 2
6154753075 3
E154753076. 4

Question Number : 19 Question Id : 615475789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



E154753073. 1
6154753074 2
6154753075 3
E154753076. 4

Question Number : 20 Question Id : 615475790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2) 10%
(3) 11% (4 12%
Options :

B154753077. 1
6154753078 2
6154753079 3
E154753080. 4

Question Number : 20 Question Id : 615475790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

£2000 D99 Fi 90 W o UEH T T 150 =1 TIUET =T UH 2A1 2] =75 =i aihF = 2 -

(1) 9% (2) 10%
(3) 11% (4) 12%
Options :

B154753077. 1
6154752078 2
6154752079 3
E154753080. 4

Question Number : 21 Question Id : 615475791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options :

5154753081, 1
6154753082 2
6154752082 3
E154753084, 4

Question Number : 21 Question Id : 615475791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

T Fearare faud wigard 61 et #1 arag 9 3tFam @ Afus Afawm 1 s@fFana 5 59 8 59 T
1 °1 3H #41 FEl 911 27

(1)  @AFgH=g U2 S (2) 312 Fm
(3)  AWAH~eH UE A (4) =
Options :

E154753081. 1
E154753082. 2
E154753083. 3
5154753084, 4

Question Number : 22 Question Id : 615475792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The distinction between Savikalpaka (determinate) and Nirvikalpaka (indeterminate) 1is
made with respect to which of the following pramanas?

(1) Anumaana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upamaina (comparison)
Options :

E154753085. 1
E154753086. 2
E154753087. 3
E154753088. 4

Question Number : 22 Question Id : 615475792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tafeiigg § © 0 990 & Ha9 § #ascTs 30 FAiaseas 5 o9 A3 T S 27

(1) AT (2) 9F4
(3) Ay (4) ITHME
Options :

E154753085. 1
6154753086, 2
E154753087. 3
6154753088 4

Question Number : 23 Question Id : 615475793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options :

E154753089. 1
E154753090 2
5154753081 3
61547530382 4

Question Number : 23 Question Id : 615475793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TIET AT T HIUGH % SAEE T FHAH % WA § a0 § 5 97 8 Heiha 27

(1) Fed 7" (2) HAaiiyg 92
(3) EHW (4) TETUE
Options :

E154753089. 1
E154753080 2
E154753091. 3
B154753092 4

Question Number : 24 Question Id : 615475794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following refers to an attribute of everyv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Dastribution (4) Comparison
Options :

E154753033. 1
6154752094 2
E154753095 3
E154753096. 4

Question Number : 24 Question Id : 615475794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HeTciEd ¥ ¥ :H-T1 [@%e0 To9% QA 9harad ) [Gemeal O Jdidd 2 9 29 od 9 [4iid 26 2

(1) mm (2) gfmm

d
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Options :

6154753093 1
6154753094 2
61547530595 2
6154753096, 4

Question Number : 25 Question Id : 615475795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options :

61547530571
6154752098 2
E154753099 3
E154753100 4

Question Number : 25 Question Id : 615475795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ol 3 AR 9uf dEmadl 1 IS 6 T 9159 2l F4: 3 x 4 x 5 (=60). 6 A 9T=9 &l 3H fFE
YR 1 dh Hied 27

(1) AT T 2 O a9
(3)  ar== d% (4) ATTHAHF TF
Options :

51547530871
61547530388 2
E154753039 3
6154752100 4

Sub-Section Number: 2
Sub-Section Id: 61547537
Question Shuffling Allowed : Yes

Question Id : 615475796 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Cestion Lakel CDITLI}I"EhEﬂSiOﬂ



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
C++ 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Python 10%

Sub questions

Question Number : 26 Question Id : 615475797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) 3 ] £
(3) s | (4) bH:2
Options :

E154752101. 1
B154753102 2
5154753103 3
E154753104 4

Question Number : 27 Question Id : 615475798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00,000
(3) 1.56.000 (4) 1.44.000
Options :

E154753105. 1
6154753106 2
6154753107 3
E154753108. 4

Question Number : 28 Question Id : 615475799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options :

E1547531059. 1
6154753110 2
6154753111 3
6154753112 4

Question Number : 29 Question Id : 615475800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What 1s the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options :

61547521121
E154753114 2
E154753115 2
5154753116 4

Question Number : 30 Question Id : 615475801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20,000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options :

E154753117. 1
E154753118. 2
51547531159 3
6154753120 4

Question Id : 615475796 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Juestion Label : Comprehension



89 (9v4: 26 T 30) ; HAfAigd e § fGfag g <99 90 J S=EEa 5 9iaeadar 2 2
Tfe aF TR 9w 6 g Sad S e SRR 6 Fe @ 12,00,000 7, A1 ATl WOATETE

THatAfga gg3i =1 397 2if9u -

T a4 Teaa-H FIHFAT T

TTed SATFAT =l TTdeTadT
C++ 15%
C 25%
FEA 12%
‘FI?J:F 13%
EIG|| 15%
Ud AR o b 10%
IECIE] 10%

Sub questions

Question Number : 26 Question Id : 615475797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 3:0 (2} b5:3
(3) g ¢ (4 bH:2
Options :

51547531011
6154753102 2
E154752103. 3
E154753104 4

Question Number : 27 Question Id : 615475798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

riq‘iltl = ril i'ljl La'_l C '::llla- | :-';ﬁ AlAE %‘ ?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options :

E154753105. 1
6154753106 2
6154753107 3
E154753108. 4

Question Number : 28 Question Id : 615475799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

C. Il 37 FEe o dd JE aled SARRA1 i el T 2

(1) 4.50.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options :

E1547531059. 1
6154753110 2
5154753111 3
6154753112 4

Question Number : 29 Question Id : 615475800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T2, T AR U o 377 San G S il FTHSE W@ 3l @il i aiegd gfaeaar fead 27

(1) 1.04% (2) 11.7%
(3) 26.6% (4) 11.0%
Options :

61547521121
E154753114 2
E154753115 2
5154753116 4

Question Number : 30 Question Id : 615475801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options :

E154752117. 1
E154753118. 2
51547531159 3
6154753120 4

Sub-Section Number: 3
Sub-Section Id: 61547538
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 615475802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {a). (c). (b)

Options :

6154753121 1
6154753122 2
6154753123 3
6154753124 4

Question Number : 31 Question Id : 615475802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

— | e T, e ! [ g [ [ Fr
HHETARS T GUsT [S4T549T 9L =R <I1EU .
(a) =1e foo=

(b) 7 21 1

(c) 31 47 31 A

e -

3= TUEY @Hd1 & SARIE FH § saiedd Fiee R g8 fwey AU

(L (b)), (o), (a)
(2) (b). (a). (c)
(3)  (e), (b). (a)
(4) (a), (c), (b)

Options :
1547521211

E154753122 2
E154753123 3
B154r53124 4

Question Number : 32 Question Id : 615475803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’'s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options :
1547521251

E154753126 2
E154753127. 3
6154753128 4

Question Number : 32 Question Id : 615475803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
feiga § 9 +9 97 @00 A1 399 9= & 999 % 0 ga9uE g o9 0 98I = ae Hem

HEHT 97 27
(1) F-TTS9ITAl
(2) A
(3) e g

(4) =991

Options :

6154753125 1
6154753126 2
6154753127 3
6154753125 4

Question Number : 33 Question Id : 615475804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options :
1547531291



E154753130 2
6154753121 3
6154753132 4

Question Number : 33 Question Id : 615475804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TeAfad § © & |1 3-9« F A2 4 3990F 27
(1) =2 g2 Hedeh W 91 71 UF 73 2

(2)  FE A=A Ga¥1 & 994 ° 9IF 31 %1 ©
(3) - HeW TG AT 0 2

(4)  E-O< 94 H SEA 919 WH 26 8

Options :

6154753129 1
154752120 2
6154753131 =
6154753122 4

Question Number : 34 Question Id : 615475805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I Last 1T
(E-1nitiatives) (Deszcriptions)
{a) Vidwan (1)  Repository for full-text thesis. e-books

and journals

(b) Digilocker (1) Education portal to facilitate learning

(c) Sakshat (i11) Database of leading scientists/
researchers

(d) Shodh Ganga (iv) Platform for 1ssuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(11). (e)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1v). (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (¢)-(1). (d)-(111)
(4) (a)-(11). (b)-(2). (c)-(111). (d)-(1v)

Options :
6154753123 1



E154753134 2
5154753135 3
51547531356, 4

Question Number : 34 Question Id : 615475805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

-1 %1 Gei-11 = 319 HIAd Hig

T=T-1
(3-27T¥7Fm)
(a) Tagm
(by T
(c) G
(d) IIg T
= 20 0 T 4 4 O8 S 96

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (e)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(4) (a)-(11), (b)-(1). (€)-(111), (d)-(av)

Options :

61547531331
6154752124 2
6154753135 2
6154753136 4

T=-1T
(fererm)
1) Y g Sg Y64, 3-g99 3R SHed #
B
(i) AT F1 gETA A F T Sifes Tea
(iil) TN S /AT w5 SEe
(iv) =&l U9 GHIET % AHE F d9T T

Question Number : 35 Question Id : 615475806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options :
£154753137. 1



E154753138. 2
51547531359 3
6154753140 4

Question Number : 35 Question Id : 615475806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FEZL Tl el 0 Zeey AT AW U 1 g0 &9 87

(1) 22 9 =0 o

(2)  TEZ AHE T TERE]
(3)  TEZ 39 g wH

(4) 22 99 1= OO

Options :

6154753137 1
6154753138 2
£154753139 2
6154753140, 4

Question Number : 36 Question Id : 615475807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options :

6154753141 1
6154753142 2
6154753143 3
£154753144 4

Question Number : 36 Question Id : 615475807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



qWd TN A FEfaiad 5 9 A G0 [ THAEE0 % 91590 O T 9106 Bad i ST 6 87

(1) 9 GO B 311 9] fage e

(2) I TEEE B T T 3T T S gae; 99 o e weed

(3) o TEEE G 191 T S T ST e 99 e 3 sl B
(4) T TETYT HAE

Options :
1547521411

E154753142 2
E154753143 3
5154753144 4

Question Number : 37 Question Id : 615475808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify environmental 1ssues which are local in nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111). (1v) and (v) (4)  (1). (11). (111) and (1v)
Options :

E154752145. 1
E154753146 2
5154753147 3
6154753145 4

Question Number : 37 Question Id : 615475808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



efaiad § 7 39 =EiE gaE1 %) TeH i 5 A TE5d ®

Y

(1) ATAH T 1 000
(11) 2T TgHv

dii)  gE

(iv)  Foard Jiadd
(v) SN

(vi) 3 A9ETE gEyE

I 20 o ot O 9 9@ 39 W =999 Hiau

(1) (11). (iii). (v) 3T (vi) (2) (i), (iv). (v) FHT (vi)
(3) (i1). (iil). (iv) 3 (v) (4) (1), (11). (1) 3R 1v)
Options :

51547531451
6154753146 2
6154753147 3
6154752145 4

Question Number : 38 Question Id : 615475809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stockholm Conference (2) Rio de Janeiro Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options :

E1547531459. 1
6154753150 2
6154753151 3
6154753152 4

Question Number : 38 Question Id : 615475809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fefafEa 1 4 g 5 1Y Ao /e aued § 39nig EeW O FEEd (S A0 0EeE Bl
T2 de SaeTHz ) 1 ATTE T 7

(1) = FeM F6H (2) T T2 s T
(3)  Temar #he (4) TEHETEE FEEE
Options :

6154752149 1
E154752150 2
5154753151 3



E154753152 4

Question Number : 39 Question Id : 615475810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emissions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options :

E154753153. 1
5154753154 2
5154753155 3
6154752156 4

Question Number : 39 Question Id : 615475810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
aigd 8 O FH-T1 T3 T50d 9oag THadd FHaE Al (3 v uF O # d) % 325 1 29
g7

(1)  TFAsd 4 ¥F 258 751 & g0 51 e
(2) TR e Tas B WA weE T soaeT W din fraiie e
(3)  TAdd a9 TIHE FHE

(4) TG 391 gAT Hedr FEETEE 4O i 7 GEes a9 F
Options :
6154753153, 1
6154753154, 2
6154753155, 3
6154753156, 4

Question Number : 40 Question Id : 615475811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options :

51547531571
6154752158 2
6154752159 3
E154753160. 4



Question Number : 40 Question Id : 615475811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

BHN. AT F HIAT 7] TEavasaTdl ArEshar 3 FaETE F SieHied #49 gd J U £ 0 e § 8
4 T9vg + v favg w@em 299 (2019) F 99 7 A7 7417

(1) Al e (2) T TEA I HES T EA e
EIJI v

(3) g ugsw Hi kA (4) & FA

Options :

E154753157. 1
6154753158 2
6154753159 3
6154752160, 4

Question Number : 41 Question Id : 615475812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options :

E154753161. 1
6154753162 2
6154753163 3
E154752164. 4

Question Number : 41 Question Id : 615475812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafafaa 4 9 T o= andm favafaa= =1 = @i o 9" 4 3= 30 fafE 9o F 9= %3
F T H 9 AE@1 87

(1) e favataerag (2) TafEen TvataEea
(3) Bl REEEIEBIGR) (4) T favataana
Options :

E154753161. 1
6154753162 2
6154752162 3
6154752164 4

Question Number : 42 Question Id : 615475813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(11  Tea sommelier

(1) Oriental languages
(i) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2) (1), (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options :

E154753165. 1
6154753166 2
6154752167 3
6154752168 4

Question Number : 42 Question Id : 615475813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g 9 ¥ 1 O 95 TW-qraie A0 FEFa % 925 2 7
(i) 71 A
(11) =4 ANH
(iii) 797 9g=H
(1v) Aueed-fagH
(v)  dedrd® 9

efEigd TFed § 9 A9 39 94

(1) (1), (i1) F (1v) (2) (i), (ii1) 3T (v)
(3) (1), (iii) 2T (iv) (4)  (ii). (iv) 31T (v)
Options :

£154753165. 1
6154753166 2
E154753167. 3
E154753168. 4

Question Number : 43 Question Id : 615475814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options :
154753169 1
154752170 2
E1E4752171. 2
154753172 4

Question Number : 43 Question Id : 615475814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HeTeAiEd 0 3 %4 v T-AEEs [EE 2 7
(1)  TI9E e e 9ieg (v =@ A 2)
(2) WA Afgae TiEg (& o )
(3) WA THEWE TEg (AR H )
(4)  TEE oA HE TAEE 909 (T4 T U )

Options :

6154753169 1
6154753170 2
154752171 2
6154753172 4

Question Number : 44 Question Id : 615475815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following has been the basis for introduction of voga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options :

6154753173 1

6154753174 2

6154753175 3

154753176 4

Question Number : 44 Question Id : 615475815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  TErg e fifd-1963
(2)  IEE e fifa-1986
(3)  AWG H AATE fweam F i ZiE, quiEEr A G iheT-2012
(4)  TEE Toe fifd-2019 1 9=
Options :
6154753173, 1
154752174 2

E154752175 3
E154753176 4

Question Number : 45 Question Id : 615475816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (11) and (111) (2) (1), (111) and (1v)
(3) (111), (iv) and (v) (4) (), (1) and (1)
Options :

E154752177. 1
E154753178 2
61547531759 3
E154753180. 4

Question Number : 45 Question Id : 615475816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) ). 1) AW ({id) (2) (1), (ii1) 37 (v)
(3) (1i1), (iv) 317 (v) (4)  (1v). (1) AT (1)
Options :

E154753177. 1
6154752178 2
6154752179 3
E154753180. 4
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Question Id : 615475817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ

For questions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theorv, it was wedded to representation — so that what
we call a democracy is, in fact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating democratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 615475818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist polities (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options :

E154753181. 1
E154753182 2
5154753183 3
E1547521854. 4

Question Number : 47 Question Id : 615475819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options :

5154753185 1
6154752186 2
6154752187, 3
E1547521858. 4

Question Number : 48 Question Id : 615475820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options :

£154752189. 1
6154752130, 2
E154752191. 3
E154753192. 4

Question Number : 49 Question Id : 615475821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options :

E1547531593. 1
E154753194 2
E154753195 3
5154753196, 4



Question Number : 50 Question Id : 615475822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options :

61547531971

1547531965 2

61547531939 3

154752200 4

Question Id : 615475817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Cestion Label COI‘H}JI"EHEHSiOH

79 : 46 T 50
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Correct Marks : 2 Wrong Marks : 0

HefaRad 8 4 fwa g TeHiias 2u a1 e Higd 27

(1) ATHAATE T (2)  T=ET F 99F
(3) i fams (4) FAHTEIHARAT
Options :

51547531811
6154752182 2
6154752182 3
E154753184. 4



Question Number : 47 Question Id : 615475819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T Ui = R0 ehd O O 78 =1 353 gamn?

(1)  TH F1 AHaa (2) IoW iHad
(3)  ANAEF AR (4) Tgifas A
Options :

6154752185 1
E154753186. 2
E154753187. 3
5154753188 4

Question Number : 48 Question Id : 615475820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TM A F AFEAN TSI ST F FE i # 7

(1) G E M= b e (2) THEEHE F ==
(3)  TSHId® WE (4) IATH-TI=i =der
Options :

E1547531859. 1
5154753190 2
5154753191 3
E154752132 4

Question Number : 49 Question Id : 615475821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) Fifa s aedifa 2y gfafafaca Fi a=ar
(3)  WidH=Ten= gl (4) FF Ar F fa=Enl 1 ey 9wE w1
Options :

6154752192 1
E154753194 2
E154753195 3
5154753196, 4

Question Number : 50 Question Id : 615475822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2)  TEgE 9rfiEr
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Options :

6154753197 1
6154753198 2
£154753199 2
6154753200, 4
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Question Number : 51 Question Id : 615475823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the Jaina text Bhagavati Sutra. how many ganarajvas of Kasi1 and Kosala

formed part of the powerful political confederacy of the Eastern India which opposed
Ajatasatru. the King of Magadha?

(1) 9 (2) 10
(3) 18 (4) 36
Options :

BE154753201. 1
B154753202 2
6154753203 3
6154753204 4
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